
10656 Maximum Sum (II)
In a given sequence of non-negative integers you will have to find such a sub-sequence in it whose
summation is maximum.

Input
The input file contains several input sets. The description of each set is given below:

Each set starts with an integer N (N < 1000) that indicates how many numbers are in that set.
Each of the next N lines contains a single non-negative integer. All these numbers are less than 10000.

Input is terminated by a set where N = 0. This set should not be processed.

Output
For each set of input produce one line of output. This line contains one or more integers which is are
taken from the input sequence and whose summation is maximum. If there is more than one such sub-
sequence print the one that has minimum length. If there is more than one sub-sequence of minimum
length, output the one that occurs first in the given sequence of numbers. A valid sub-sequence must
have a single number in it. Two consecutive numbers in the output are separated by a single space.

Sample Input
2
3
4
0

Sample Output
3 4


